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Sy = H . a5 3 5 [y pil E H
BHA R RSB AEEA E%ME | ®Y | 7F7E T sHem | emim | 7A1H | sAsE | sAiH | 10RsH | 10AsiH | 12AzA | 1H5H | 2AiA | 3ATH
1S BEENKRBEA] K 15REa Y KT — wt% 18.9 16.0 - - - 16.9 132 16.9 20.9 - - -
RETRBOEE - wt% 204 6.7 - - - 208 19.5 255 305 - - -
Lo RE 10 wi% 22 25 - - - 25 1.1 2.1 24 - - -
BHiinfhE= (RIRN—X) — kg/m 1150 1190 - - - 1210 1150 1210 1120 - - -
MAREE FBE~N—X) — keg/m 782 960 - - - 1160 1100 1190 1100 - - -
25 BEAIRBEENIR 25 REIDAY | KD wi% 18.2 171 175 14.3 18.3 - - 19.1 205 18.4 15.6 16.8
IRBRBDEE wt% 18.1 19.1 254 13.6 15.1 - - 138 195 21.9 343 239
ALeGRE Rt wt% 23 2.6 2.9 24 2.6 - - 2.1 20 29 25 1.7
BHiighE s (RIRRN—X) keg/m 1300 1320 1210 1300 1230 - - 1130 1470 1280 1390 1430
B EE BE—X) kg/m 1110 1210 1120 1250 1190 - - 1070 1310 1160 1320 1370
3B BEANRBERN R 3ERBIUAY [ KD wt% - - 12.3 13.4 15.5 17.2 23.6 - - 18.2 15.8 17.2
RETHEBOEE wt% - - 220 13.3 19.6 19.7 14.2 - - 24.1 35.6 18.3
HLe<RE Rt wi% - - 26 1.9 20 2.9 2.9 - - 2.7 24 1.7
BHiiahEE (RIRN—X) kg/m - - 1190 1280 1300 1170 1210 - - 1270 1420 1320
MAEEE BE~N—X) kg/m - - 970 1250 1260 1140 1060 - - 1160 1360 1290
REEEL, (RERYONERSERICET 552 OFEEETHD
b — s 4 P - W & H
R EE BRE - RARIGFET BlEEE HAE(E B iH6E SATH SH3H 0RSE F-PE] THeE
IR (RLER) X1 CHERREO | KR {1 RE — — 125 12.0 12.7 13.2 124 124
ARSYLXEZDIEED 0.09 mg/L| 0.001Ki#| 0.0015K#%| 0.001%&#%| 0.001%K#| 0.0015FKi#E| 0.001kKH
NE7OLIEED 15 mg/L| 005%kKH| 005%kK#| 005%Ki#| 0.055%K#| 0.05%kKi#| 0.055%K#
STUEEW — me/L|  0.05%ki&| 005%ki#| 005%k:#| 0.05%K:#| 005%Ki#&| 0.05%K#&
KEXEZDEED 0.005 mg/L | 0.00055 | 0.00055k 5 | 0.00055K 5% | 0.00055K % | 0.00055k i | 0.00055k i
7ILXILKERIEE RSB mg/L| REET| BHEET| BHEET| REELT| RELT| BHET
ELOXEZDIEED 0.3 mg/L| 001K 0.02] 001Kih| 001X 001KHM| 0.01FKiH
AXEZDIEED 0.3 mg/L|  0.01FKi#& 0.02] 0014|001k 001K 001K
MEXETZDEED 0.3 mg/L|  001kiE| 001Ki| 001kKi#E| 001KiE| 001KME| 001KA
I EEELEED — me/L e [NES 1AL 3 0.1ki& 0.1k% 0.1ki&
14-CFXH 0.5 meg/L| 005%K:#| 005%KH| 005KF| 005Ki#H| 005K 0.05KF]

X1 IRIZER AL KEMAEESEHET 50D X
X HEERERRELEEERABRELLI—(T1=vIREUE—) ITEIT2RARETHD.




